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Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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Multiple choice answer sheet for no. 1 to no. 20 (each number =1 point).

Cross (X) the correct answer
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Short question answer sheet for no. 1to no. 5

1. (3 point) (Give checklist on the box below (a), (b), and (c) as your answer)

Blood capillary (a) Urine Production (b) | Sweat Gland ()
Vasoconstriction Increase Active v
Vasodilatation v Decrease v Not active

2. a. (1 point) Os. Humerus/ humerus bone/ upper arm bone/ (if only arm give 0.5
point)

b. (1 point) knee/knucle(s)/finger segments (if only fingers give 0.5 point)
c. (1 point) to connect between muscle and bone

d. (1 point) muscle X will be relaxed/bisep muscle will be relaxed/ the arm will be in
straight position

3. a. (1 point) longer/slower/more
b. (1 point) greater/higher/larger
4. a. (1 point) constant/unchange
b. (1 point) upward/top/up
5. a. (4 points)

i. melting ii. freezing

iil. vaporizing iv.condensation

b. (1 point) freezing or equal
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